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1. If f(t) = t" where, ‘'n’ is an integer greater than zero, then its Laplace Transform is given
by?

a)n!

b) tn+T

c)nl/s"1

d) Does not exist

2. If f(t)=t, then its Laplace Transform is given by?
a) %

b) %

c) VI /2vs

d) Does not exist

3. If f(t) = sin(at), then its Laplace Transform is given by?
a) cos(at)

b) 1/asin(at)

c) Indeterminate

d) a/s%+a?

4. If f(t) = tcos(at), its Laplace transform is given by?
a)1/s-a

b) 8% —a’/(s*+a?)?

c) Indeterminate

d) s?at

5. If f(t) = e, its Laplace Transform is given by?
a) a/s*+a’

b) \11/2vVs

c)1/s-a

d) Does not exist

6. If f(t) = sin(at) — atcos(at), then its Laplace transform is given by?
a) Indeterminate form is encountered

b) a3/(s? + a?)?

c) 2a3/(s? «a™

d) 2a/(s? +a?)?

7. IFf(t) = cos(at) + atsin(at), its Laplace transform is given by?
a) (s+a)/(s—a)

b) a*/(s>+a%)2

c) s(s*+3a%)/(s*+a%)’

d) Does not exist



8. If f(t) = cos(at + b), its Laplace transform is given by?
a) a/[s*+a’]

b) 2as/[(s*+a’)*]

c) [scos(b)—asin(b)]/s*+a’

d) Does not exist

9. If f(t) = coshat, its Laplace transform is given by?
a) s/s%a’

b) sta/s-a

c) Indeterminate

d) (sinh(at))?

10 If f(t) = e cos(bt), then its Laplace transform is?
a)2a’/(s?> + a?)

b) (s+a)/(s-a)

c) Indeterminate

d) (s-a)/[(s —a)’ + b’]

11. If f(t) = ¥ sinh(at), then its Laplace transform is?
a) 162%-a

b) 2a/(s — b)? + b?

c)n!/(s —a)*!

d) Does not exist

12. If f(t) = %*asinat, then its Laplace transform is?
a)b/(s +a)’ +b?
b) 2a/(s — b)? + b?
c) Indeterminate
d) s/(s? + a?)?

13. If f(t) = te®, then its Laplace transform is?
a) 1/(s+a)?

b) 2a/[(s—b)*+b?]

e)a¥/(s*ra’y

d) Indeterminate

14 If L { f(t) } = F(s), then L {kf(t)} =7
a) F(s)

b) k F(s)

c) Does not exist

d) F(%)



15. Laplace transform if sin(at)u(t) is?
a) s/a’+s?
b) a/a’+s?

s/a’+s?

a/[a*+(s—1)7]
s+1)/[a’+(s+1)"]
(s+1)/[a’+(s+17]

a) [(125-16)/(s2+4)"]
b) [(3s2—4)/(s2+4)]

c) [(1252—16)/(s2+4)6]
d) [(125-16)/(s2+4)*]

19. Find the laplace transform of t%.

15
a) —\ns>?
8

15 -
b) —\ns™?2
8
9 |
c) —\ns’?
A

5 -
d) 1?\{115?’3

20. Value of f_““m et Sin(t)Cos(t)dt =7
a)0.5

b) 0.75

c) 0.2

d) 0.71

21. Find the laplace transform of y(t)=e'.t.Sin(t)Cos(t).
a) 4(s—1)/ [(s—1)2+4]
b) 2(s+1) / [(s+1)2+4]>
c) 4(s+1) / [(s+1)2+4]
d) 2(s—1) / [(s—1)2+4]



22. Find the value of [,” tsin(t)cos(t).
a) s/s’+2?

b) a/a*+s*

c) 1

d) 0

23. Find the L-1(=%2).
45149
a) i cos(3t/2)+ % cos(3t/2)
b) + cos(3t/4)+ = sin(3t/2)
c) g cos(3t/2)+ é sin(3t/2)
d) —cos(3t2)+ = sin(3t/2)

24. Find the L-1(1/(s+2)%).
a) e %3

b) e 2x£/3

c) e ?xtY/6

d) e 2txt/6

25. Find the L-1(s(s—1)7).

S
a)e ()

b) et (§+ tﬁ—j)

s

26. Find the L-1(z-2)
a) e *{cos(2V2t)—sin(2tv/2t)}
b) et{cos(2V2t)=sin(2V2t)}
c) e t{cos(2v2t)~cos(2v2t)}
d) e % {cos(2v2t)—sin(2v2t)}

27. Find the L—1((s+1)(s+2)(s+3)).
a) 2e3te?

b) 3e3Le?

c) 2e 3.3t

d) 2e2te



. 35+9
28. Find the L—1 (m
a) e'+6e'+5e?
b) et-el+5e?
c) e lee+5e?
d) et-6el+5e%

).

29. Find the L—1(1(s2+4) (s2+9)).
a)  (sin(2t)/2-sin(t)/3)

b) = (sin(21)/2+sin(3t)/3)

c) g (sin(t)/2—sin(3)/3)

d) g (sin(21)/2—sin(3t)/3)

s

30. Find the L_I(52+1)(52+2)(52+3)
a) % cos(t)—cos(v/3t)— % cos(V/3t)
b) % cos(t)+cos(vV2t))— % cos(V/30)
C) % cos(t)—cos(v/2t))— % cos(\fB‘_t)

d) % cos(t)+cos(V2t) +% cos(v/3t)

)

. +1
31. Find the L-1(———).
((5—1)(s+2)2)
2 2 g9 1 _
a)_et__e Et_i__e tht
22 1
b) i et—— e—2t+_ e—EtXt
9 9 3
2 2 3¢ 1 _
C)—et——e 3ty 2 o2yt
% .02 i
d) & et__ e—2t+_ e—Et
9 9 3

32Find the L—1(1/s(s*+4)).
a) [1-sin(t)]/4

b) [1—cos(t)]/4

c) [1-sin(2t)}/4

d) [1—cos(21)]/4

w

. Find the L—1[s/(s*+4)?].
tcos(21)

o
—_— =~~~ W

N N N e

tsin(t)

O

tsin(2t)

o

tsin(2t)



34. Solve the Ordinary Differential Equation by Laplace Transformation y”" — 2y’ — 8y =0
ify(0) =3 and y’(0) =6.

a) 3e'cos(3t)+tsint(3t)
b) 3efcos(3t)+te tsint(3t)
c) 2e‘*cos(3t)—2§—sint(3t)

d) 2¢"cos(3t)-2t=sint(31)
35. Solve the Ordinary Differential Equation using Laplace Transformation y™ — 3y” +

3y’ —y=1t>e'when y(0) =1, y'(0) =0 and y”(0) = 2.

t? t t?
a) 2e' —+e'+2e' —+4e' —
720 6 24

t3 - t t2
b) e' —+2e +2e —+4e' —
720 6 24
_jiE?
24
4 t2
24

g B 4t
c) et —+e e —+e
720 6

VS RN
d) 2et—+e 42et —4e
720 6
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